P ——

P&,ﬁ,ﬂm Back Lapping Machine - 115/230 V

-y R267

Japan Equipment
123 Main St. Apartment 12 Tokyo, 100-0001
987-456-3210

https://japan.rrproducts.com/

Details

R&R Back Lapping Machine features a
115/230/110/120 volt, 60.50 Hertz, 1/2 HP reversing
motor, two adjustable support stands, 1 Ib. of R&R
Silicon Citrus Lapping Compound.

Please note: Due to excessive air freight charges,
this item will be shipped ground freight.

e 1/2 HP reversing motor
e Two adjustable support stands
e 1 Ib R&R Silicon Citrus Lapping Compound

Replaces
R&R Products

Specifications
Manufacturer

Replacement Parts
R9358

R300103

R3649237
R400184

R453009
R32153-3

R300102

R9342
R300105

R300100

R&R Products

Motor - Backlapper 1/2
H.P.

Switch - Backlapping
Machine

Handle

Screw - 5/16-18 x 3/4
Hex

Washer - Flat 5/16 SAE
Locknut - 5/16-18 ESNA
Zinc

Bolt - Hex HD 5/16-18 x
1 GR5

Sheave 2 x 1/2 w/Hub
Screw - Set 5/16-18 x
5/16



P ——

‘ﬁﬁ,n" Back Lapping Machine - 115/230 V
-~  R267

R9328 Belt - Backlapping
Machine
R3708440 Sheave - 7
R300106 Screw - Set 5/16-18 x
1/4
R3659039 Sheave - Belt 2 x 1/2
Bore
R3659039-1 Screw - Set 1/4-20 x 1/4
R3659546 Housing - Shaft /
Bushing Assy
R3-1506 Bushing - Bronze
R3659047 Shaft - Reduction
RC-10023 Bolt - Bed Knife
R30002 Guard - Back Sheave
R30003 Cover - Back Sheave
R30012-1 Guard - Front Sheave
R30006-1 Cover - Front Sheave
R300108 Decal - Caution
R300107 Screw - 3/8 x 10 x SI Hx
HD
R400104 Bolt - Hex HD 1/4-20 x
1/2
R3256-22 Washer - Flat 1/4
Yellow
R3659010 Base - Lapping
Machine
R3709767 Support - Rubber
R300104 Screw - Button HD Cap
10-32 x 5/8
R300101 Nut - Acorn 10-32
R300109 Decal - Warning w/Part
No. R267
R3659542 Support - Arm /
Bushing Assy
R30015-1 Arm - Adjusting
R9314 Handle - Adjusting
w/Hardware
R3589106 Washer - Flat 13/32 x
1-1/2
R3659054 Shaft - Drive
R9331 Pin-Roll 1/4 x 1-1/4
R150328 Collar - Retaining 5/8
R3009 Socket - Drive Assy
R3008 Coupling - Drive Fits
Japan Equipment
123 Main St. Apartment 12 Tokyo, 100-0001
987-456-3210

https://japan.rrproducts.com/



P ——

‘ﬁﬁ,n" Back Lapping Machine - 115/230 V
-~  R267

Neary

R33008 Jack - Adjustable
Support

R80169 Knob - Support Stand

R3659553 Stand - Support

R3659020 Support - Roller

R443110 Nut - 3/8-16 Hex

R29-9100 Backlapping Brush

R910080 Lapping Compound -
Pre-Mixed 10 Ib. 80
Grit Medium

R910050 Lapping Compound -
Pre-Mixed 10 Ib. 50
Grit Course

R910100 Lapping Compound -
Pre-Mixed 10 Ib. 100
Grit Medium

R910120 Lapping Compound -
Pre-Mixed 10 Ib. 120
Grit Fine

R910220 Lapping Compound -

Pre-Mixed 10 Ib. 220
Grit Extra-Super Fine

R925050 Lapping Compound -
Pre-Mixed 25 Ib. 50
Grit Course

R925080 Lapping Compound -
Pre-Mixed 25 Ib. 80
Grit Medium

R925100 Lapping Compound -
Pre-Mixed 25 Ib. 100
Grit Medium

R925120 Lapping Compound -
Pre-Mixed 25 Ib. 120
Grit Fine

R925180 Lapping Compound -
Pre-Mixed 25 Ib. 180
Grit Super Fine

R925220 Lapping Compound -
Pre-Mixed 25 Ib. 220
Grit Extra-Super Fine

Japan Equipment
123 Main St. Apartment 12 Tokyo, 100-0001
987-456-3210

https://japan.rrproducts.com/




